Algebra 1 Chapter 4 Pre-Test

1. (5 pts each, 15 points total) Solve each of the following proportions.
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2. (5 pts each, 10 points total) Each pair of figures is similar. Find the length of x.
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@ (5 pts each, 15 points total) Solve each problem.
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4. (5 pts each, 20 points total) Find each percent of change. Describe the percent of

change as an increase or decrease. N YW O(A
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d) In 1980, the average price of a movie ticket was $2.69. In 2017, the average
price was $8.65. What was the percent of change?



(5 pts each, 20 points total) Since 1996, there have beeﬁSuper Bowls. Of these, the
New England Patriots have represented the AFC 10 tim&S, tne Denver Broncos 4 times,
and the Pittsburgh Steelers 4 times. Use this information to answer the following:

What is the probability the New England Patriots would represent the AFC during
this time?
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b) What is the probability that the Denver Broncos or Pittsburgh Steelers would
represent the AFC during this time?

@ What is the probability that another team other than the New England Patriots,
Denver Broncos or Pittsburgh Steelers would represent the AFC during this time?
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d) What is the probability that Pittsburgh was not a representative during this time?



6.

(5 pts each, 10 points total) Suppose Claire has a bag of candy containing 8 Snickers

bars, 6 Kit-Kats, and 4 Reese’s Cups. Find each probability. 4‘| l l 8
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